ANOTHER WEARY TITAN

I.  Dec. 1982 – CIA reported to US Congress that Soviet economy was “in


good shape”

A. Surface figures showed that USSR was importing (and paying for) plenty of Western grain and technology

B. CIA believed USSR would have no trouble keeping up in the renewed arms race

C. However, the reality was very different

II.  By the early 1980s, the Soviet economy was nearing collapse

A. Soviet economy had a lot going for it

1. Extremely rich in natural resources, particularly in oil and gas

2. Large literate population could produce an effective work force

B. However, there were serious structural problems which outweighed these apparent advantages

1. 1982 – Soviet think-tank issued harsh criticisms of central planning and the inefficiencies of the Soviet economy

a. Economy was too complex to effectively regulate from a single central authority

b. Administrative limitations prevented innovation in production, service, and distribution

c. Central bureaucracy had grown far too huge

2. From the time of Stalin, entire Soviet economy had been geared toward production in heavy industry

a. Could out-perform the West in terms of coal and steel

b. Faced far greater difficulties in high tech production and research and development

c. Had consistently faced severe shortages in consumer goods, and therefore no real consumer market which could push innovation

3. With no real incentive system, labor productivity was far below potential

a. Employment and housing were guaranteed by the State

b. There were no raises and few promotions for outstanding performance, and no real penalties for mediocre performance

c. In addition, rampant alcoholism resulting from State-subsidized vodka serious cut into productivity

C. Finally, there was the problem of sustaining the huge Soviet “empire”

1. Soviet satellites could not really trade effectively with capitalist world

2. Meant that USSR had to subsidize much of its empire, to keep those regimes friendly

a. Shipped out financial aid, trade credits, arms, and cheap oil

b. In early 1980s, outflow was roughly $15-20b, while hard currency earnings from exports was roughly $27-32b (in other words, only $7-10b kept for huge needs of USSR)

III.  It is clear then that the CIA was dead wrong – USSR could NOT afford


the renewed arms race of the 1980s, and the new leadership on the 


horizon knew it

A. 1984 – Andropov died from kidney failure, was succeeded by the equally ailing Konstantin Chernenko

B. Even before Chernenko’s brief regime ended with his death, a dynamic new player was offering radical strategies to deal with this collapsing economic situation – Mikhail Gorbachev

